Math 131 - Quiz 2 Name __key
January 27, 2021 Score

Show all work to receive full credit. Supply explanatlons when necessary. This quiz is due
on February 3.

1. (6 points) Evaluate each limit analytically. DO NOT USE A CALCULATOR.
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2. (2 points) Consider the following limit: lim x_M
z—5 (1‘ — 5)2

(a) Explain why the limit laws cannot be used to determine the limit.

\\-\a LimaT LAWS CANNOY BE USED RECAUSE

THE Lm\T oF THE Denom,nator \S' ZERO.

(b) The actual limit fails to exist. In which of the four common ways does it fail to

exist? Justify your reasoning.
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3. (2 points) Evaluate each limit analytically. DO NOT USE A CALCULATOR.
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